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1. Do not open the booklet unless you are 

asked to do so. 

 1. iz’u&iqfLrdk dks rc rd u [kksysa tc rd vkils dgk 

u tk,A 

2. The booklet contains 60 questions. 

Examinee is required to answer any 50 

questions in the OMR Answer-Sheet 

provided and not in the question booklet. If 

more than 50 questions are attempted by 

student, then the first attempted 50 

questions will be considered for evaluation. 

All questions carry equal marks. 

 2. iz’u&iqfLrdk esa 60 iz’u gSaA ijh{kkFkhZ dks fdUgha  

50 iz’uksa dks dsoy nh xbZ OMR vkUlj&’khV ij gh 

gy djuk gS  iz’u&iqfLrdk ij ughaA ;fn Nk= }kjk 

50 ls vf/kd iz’uksa dks gy fd;k tkrk gS rks izkjfEHkd 

gy fd;s gq, 50 mŸkjksa dks gh ewY;kadu gsrq lfEefyr 

fd;k tk,xkA lHkh iz’uksa ds vad leku gSaA 

3. Examine the Booklet and the OMR Answer-

Sheet very carefully before you proceed. 

Faulty question booklet due to missing or 

duplicate pages/questions or having any 

other discrepancy should be got 

immediately replaced. 

 3. iz’uksa ds mŸkj vafdr djus ls iwoZ iz’u&iqfLrdk rFkk 

OMR vkUlj&’khV dks lko/kkuhiwoZd ns[k ysaA nks”kiw.kZ 

iz’u&iqfLrdk ftlesa dqN Hkkx Nius ls NwV x, gksa ;k 

iz’u ,d ls vf/kd ckj Ni x, gksa ;k mlesa fdlh 

vU; izdkj dh deh gks  rks mls rqjUr cny ysaA 
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1. fo’o dk lokZf/kd miks”.k vkfdZM mRiknd ns’k 

gS % 

 
1. Which country is the highest producer of 

tropical orchids ? 

(A) FkkbZyS.M  (A) Thailand 

(B) vÝhdk  (B)  Africa 

(C) uhnjyS.M  (C)  Netherlands 

(D) Hkkjr  (D)  India 

2. xsank dk cht nj izfr gsDVs;j gS % 
 

2. Seed rate of marigold per hectare is :  

(A) 0-75&1-00 fdxzk  (A) 0.75-1.00 kg 

(B) 1-5&2-0 fdxzk  (B)  1.5-2.0 kg 

(C) 3&3-50 fdxzk  (C)  3-3.50 kg 

(D) 4&4-50 fdxzk  (D)  4-4.50 kg  

3. ßjkst vkWQ b.MhtÞ lkekU; uke gS % 
 

3. “Rose of Indies” is common name of : 

(A) V~;wcjkst dk  (A) Tuberose 

(B) xqykc dk  (B)  Rose 

(C) xsank dk  (C)  Marigold 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

4. xqynkÅnh dh csekSleh fdLe gS % 
 

4. Off season variety of Chrysanthemum is : 

(A) dhfrZ  (A) Keerti 

(B) ek?kh  (B)  Maghi 

(C) egkRek xka/kh  (C)  Mahatma Gandhi 

(D) mi;qZDr lHkh  (D)  All of the above 
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5. v’oxa/kk esa dkSu&lk vEy ik;k tkrk gS \ 
 

5. Which alkaloid is found in  

Ashwagandha ? 

(A) lksesuhQsjhu  (A) Somenifereen 

(B) foFksuhu  (B)  Vithenin 

(C) fudksVhu  (C)  Nikotine 

(D) mi;qZDr lHkh  (D)  All of the above 

6. ltkoVh ikS/kksa dh jkuh dkSu gS \ 
 

6. Which is the queen of ornamental  

plants ? 

(A) xsank  (A) Marigold 

(B) V~;wcjkst  (B)  Tuberose 

(C) XysfM;ksyl  (C)  Gladialus 

(D) xqynkÅnh  (D)  Chrysanthemum 

7. dkSu&lh Qly Vªsi Qly ds :i esa mi;ksx 

dh tkrh gS \ 

 
7. Which crop is used as a trap crop ? 

(A) dkjus’ku  (A) Carnation 

(B) tjcsjk  (B)  Gerbera 

(C) V~;wcjkst  (C)  Tuberose 

(D) xsank  (D)  Marigold 
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8. xqykc dh mRifjorhZ fdLe gS % 
 

8. Mutant variety of rose is : 

(A) iwlk eksfgr  (A) Pusa Mohit 

(B) eksfguh  (B)  Mohini 

(C) nksuksa (A) vkSj (B)   (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

9. [kl dk mi;ksx D;k gS \ 
 

9. What is use of vetiver ? 

(A) dksYM fMªad  (A) Cold drink 

(B) lkcqu  (B)  Soap 

(C) nksuksa (A) vkSj (B)   (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

10. xqynkÅnh dhfrZ fdLe fdlls lEcfU/kr gS \ 
 

10. „Chrysanthemum kirti‟ variety is  related  

to :  

(A) tjcsjk  (A) Gerbera 

(B) xsank  (B)  Marigold 

(C) xqynkÅnh  (C)  Chrysanthemum 

(D) XysfM;ksyl  (D)  Gladiolus 

11. dkjus’ku [ksrh ds fy, lcls vPNh Hkwfe 

ih&,p- gS % 

 
11. Best soil pH for carnation cultivation  

is : 

(A) 5.5-6.5  (A) 5.5-6.5 

(B)  4.5-5.5  (B)  4.5-5.5 

(C)  6.5-7.5  (C)  6.5-7.5 

(D)  7.5-8.5  (D)  7.5-8.5 
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12. rqylh dk [kk;k tkus okyk Hkkx gS % 
 

12. Edible portion of ocimum is : 

(A) iŸkh  (A) Leaf 

(B) tM+  (B)  Root 

(C) ruk  (C)  Stem 

(D) iwjk ikS/kk  (D)  Whole plant 

13. lh- vkbZ- ,e- ,- ih- dgk¡ fLFkr gS \ 
 

13. C. I. M. A. P. are situated at : 

(A) dsjy  (A) Kerala 

(B) fnYyh  (B)  Delhi 

(C) iatkc  (C)  Punjab 

(D) y[kuÅ  (D)  Lucknow 

14. xqykc dk lcls gkfudkjd jksx gS % 
 

14. Most serious disease of rose is : 

(A) mdBk  (A) Wilt 

(B) QQw¡nh  (B)  Fungal 

(C) MkbZ cSd  (C)  Die back 

(D) LVse xky  (D)  Stem gall 

15. lgkjk nsuk fdl Qly dh ,d lkekU; fof/k  

gS \ 

 
15. Staking practice is a common method of 

which crop ? 

(A) xqynkÅnh  (A) Chrysanthemum 

(B) xqykc  (B)  Rose 

(C) esUFkk  (C)  Mint 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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16. mŸkjh Hkkjr esa xqykc dk :VLVkWd tks vkerkSj 

ij iz;ksx gksrk gS % 

 
16. Most commonly used rose rootstock in 

North India : 

(A) jkstk bf.Mdk  (A) Rosa indica 

(B) jkstk xkyhdk  (B)  Rosa gallica 

(C) jkstk dsfuuk  (C)  Rosa cannina 

(D) jkstk eksLPkkVk  (D)  Rosa moschata 

17. ,LijSxl dk fo’o esa lcls vf/kd mRiknu 

gksrk gS % 

 
17. Largest producer of asparagus in the 

world is : 

(A) phu esa  (A) China 

(B) Hkkjr eas  (B)  India 

(C) ;w- ,l- ,- esa  (C)  U. S. A. 

(D) vÝhdk eas  (D)  Africa 

18. ^lqijLVkj* fdLe lEcfU/kr gS % 
 

18. „Superstar‟ variety is related to : 

(A) xqykc ls  (A) Rose 

(B) dksLVl ls  (B)  Costus 

(C) xsank ls  (C)  Marigold 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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19. nkyphuh dk [kk;k tkus okyk Hkkx gS % 
 

19. Edible portion of cinnamomum is : 

(A) tM+  (A) Root 

(B) iŸkh  (B)  Leaf 

(C) Nky ¼ckdZ½  (C)  Bark 

(D) Qwy  (D)  Flower 

20. nkyphuh dk mRifŸk LFkku gS % 
 

20. Origin place of cinnamomum is : 

(A) nf{k.k vÝhdk  (A) South Africa 

(B) Jhyadk  (B)  Sri Lanka 

(C) Hkkjr  (C)  India 

(D) usiky  (D)  Nepal 

21. yseuxzkl dh tUeLFkyh gS %  
 

21. Origin place of lemongrass is : 

(A) ;w- ,l- ,-  (A) U. S. A. 

(B) HkwVku  (B)  Bhutan 

(C) Hkkjr  (C)  India 

(D) vesfjdk  (D)  America 

22. ^f=’kuk* fdLe lEcfU/kr gS % 
 

22. „Trishna‟ variety is related to : 

(A) ikejkslk ls  (A) Palmarosa 

(B) xqykc ls  (B)  Rose 

(C) rqylh ls  (C)  Ocimum 

(D) xsank ls  (D)  Marigold 
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23. XysfM;ksyl esa VkWiy chekjh fdl rRo dh 

deh ls gksrh gS \ 

 
23. Topple disease of gladiolus is caused due 

to defeciency of :  

(A) cksjkWu  (A) Boron 

(B) eSaxuht  (B)  Mn 

(C) dkWij  (C)  Cu 

(D) dSfYl;e  (D)  Ca 

24. pesyh esa xq.klw= la[;k gksrh gS % 
 

24. Chromosome no. of Jasmine is : 

(A) 25  (A) 25 

(B)  26  (B)  26 

(C)  27  (C)  27 

(D)  28  (D)  28 

25. MkW- ch- ih- iky us xqykc dh fdl fdLe dk 

fodkl fd;k \ 

 
25. Which rose variety was developed by  

Dr. B. P. Pal ?  

(A) iwlk ljcrh  (A) Pusa Sarbati 

(B) eksfguh  (B)  Mohini 

(C) nksuksa (A) vkSj (B)   (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

26. xqynkÅnh gS % 
 

26. Chrysanthemum is : 

(A) ,y- Mh- ih-  (A) LDP 

(B) Mh- ,u- ih-  (B)  DNP 

(C) ,l- Mh- ih-  (C)  SDP 

(D) ,e- Mh- ih-  (D)  MDP 
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27. ckjknjh fdl xkMZu dh ,d egRoiw.kZ fo’ks”krk 

gS \ 

 
27. Baradari is an important feature of which 

garden ? 

(A) Ýsap  (A) French 

(B) vaxzsth  (B)  English 

(C) eqxy  (C)  Mughal 

(D) pkbuht  (D)  Chinese 

28. ^ÝsaMf’ki* fdLe lEcfU/kr gS % 
 

28. „Friendship‟ variety is related to :  

(A) xqynkÅnh ls  (A) Chrysanthemum 

(B) xqykc ls  (B)  Rose 

(C) XysfM;ksyl ls  (C)  Gladiolus 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

29. ^iwjc dh jkuh* lkekU; uke gS % 
 

29. “Queen of East” is the common name of : 

(A) dkjus’ku dk  (A) Carnation 

(B) tjcsjk dk  (B)  Gerbera 

(C) xqykc dk  (C)  Rose 

(D) xqynkÅnh dk  (D)  Chrysanthemum 

30. xqykc dh ßyk ÝkUlÞ fdLe fdlls lacaf/kr  

gS \ 

 
30. “La France” cultivar of rose belongs to : 

(A) gkbfczM Vh  (A) Hybrid Tea 

(B) ¶yksfjcUMk  (B)  Floribunda 

(C) nksuksa (A) vkSj (B)   (C)  Both (A) and (B) 

(D) mi;qZDr lHkh  (D)  All of the above 
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31. xasnk dk dqy D;k gS \ 
 

31. What is the family of marigold ? 

(A) dEiksftVh  (A) Compositae 

(B) jkstslh  (B)  Rosaceae 

(C) bfjMh,lh  (C)  Iridaceae 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

32. dk¡Vkjfgr iztkfr gS % 
 

32. Which is the thornless variety ? 

(A) iwlk eksfgr  (A) Pusa Mohit 

(B) lqfp=k  (B)  Suchitra 

(C) nksuksa (A) vkSj (B)   (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

33. xqynkÅnh dk mRifŸk LFkku gS % 
 

33. Origin place of Chrysanthemum : 

(A) phu  (A) China 

(B) usiky  (B)  Nepal 

(C) Hkkjr  (C)  India 

(D) ;w- ,l- ,-  (D)  U. S. A. 

34. fdlesa Çifpax t:jh gS \ 
 

34. Pinching is necessary in : 

(A) xsank  (A) Marigold 

(B) xqynkÅnh  (B)  Chrysanthemum 

(C) nksuksa (A) vkSj (B)   (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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35. dsfyDl fLIyfVax ,d fodkj gS % 
 

35. Calyx splitting is a disorder of : 

(A) xqykc dk  (A) Rose 

(B) dkjus’ku dk  (B)  Carnation 

(C) xsank dk  (C)  Marigold 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

36. xqykc esa foaVfjax dk le; gS % 
 

36. Wintering time of rose crop is : 

(A) Qjojh&ekpZ  (A) February-March 

(B) twu&tqykbZ  (B)  June-July 

(C) flrEcj&vDVwcj  (C)  September-October 

(D) vDVwcj&uoEcj  (D)  October-November 

37. xqykc ds Qy dks D;k dgrs gSa \ 
 

37. Fruit of rose is known as : 

(A) Mªwi  (A) Drupe 

(B) csjh  (B)  Berry 

(C) fgi  (C)  Hip 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

38. ykWu dh ladYiuk dh mRifŸk gqbZ % 
 

38. Concept of lawn originated in : 

(A) bXySaM esa  (A) England 

(B) tkiku eas  (B)  Japan 

(C) Hkkjr eas  (C)  India 

(D) usiky esa  (D)  Nepal 
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39. tkiku dk jk”Vªh; Qwy gS % 
 

39. National flower of Japan is : 

(A) xqykc  (A) Rose 

(B) xsank  (B)  Marigold 

(C) xqynkÅnh  (C)  Chrysanthemum 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

40. Hkkjr dk jk”Vªh; Qwy gS % 
 

40. National flower of India is : 

(A) xsank  (A) Marigold 

(B) xqykc  (B)  Rose 

(C) nksuksa (A) vkSj (B)   (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

41. XysfM;ksyl izo/kZu fdlls gksrk gS \ 
 

41. What are propagation of gladiolus  

crop ?  

(A) dkeZ  (A) Corms 

(B) V~;wclZ  (B)  Tubers 

(C) ruk  (C)  Stem 

(D) ldlZ  (D)  Suckers 
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42. Hkkjr ds izfl) xqykc czhMj gSa % 
 

42. The famous rose breeder of India is : 

(A) MkW- ch- ih- iky  (A) Dr. B. P. Pal 

(B) MkW- ,l- eq[kthZ  (B)  Dr. S. Mukharji 

(C) MkW- oh- ds- jk;  (C)  Dr. V. K. Ray 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

43. ÝsaMf’ki iztkfr lEcfU/kr gS % 
 

43. Friendship variety is related to : 

(A) xqynkÅnh ls  (A) Chrysanthemum 

(B) xqykc ls  (B)  Rose 

(C) XysfM;ksyl ls  (C)  Gladiolus 

(D) xsank ls  (D)  Marigold 

44. rqylh dk mRifŸk LFkku gS % 
 

44. Origin place of Ocimum is : 

(A) Hkkjr  (A) India 

(B) vÝhdk  (B)  Africa 

(C) usiky  (C)  Nepal 

(D) HkwVku  (D)  Bhutan 

45. iqnhuk dk izo/kZu ¼izlkj.k½ fdlls gksrk  

gS % 

 
45. What is propagation material used in  

Mint ? 

(A) ruk  (A) Stem 

(B) tM+  (B)  Root 

(C) juj  (C)  Runner 

(D) iŸkh  (D)  Leaf 
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46. xqykc fgi vPNk lzksr gS % 
 

46. Rose hip is good source of : 

(A) foVkfeu A dk  (A) Vitamin A 

(B) foVkfeu B dk  (B)  Vitamin B 

(C) foVkfeu C dk  (C)  Vitamin C 

(D) foVkfeu D dk  (D)  Vitamin D 

47. uxsV iztkfr gS % 
 

47. Nugget is the variety of : 

(A) xsank dh  (A) Marigold 

(B) xqykc dh  (B)  Rose 

(C) V~;wcjkst dh  (C)  Tuberose 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

48. ykyck?k xkMZu dgk¡ fLFkr gS \ 
 

48. Lalbagh garden is located in : 

(A) fnYyh esa   (A) Delhi 

(B) vkxjk esa   (B)  Agra 

(C) bVkok esa   (C)  Etawah 

(D) csaxyq# eas  (D)  Bengaluru 

49. jtuhxa/kk esa O;kolkf;d izo/kZu gksrk gS % 
 

49. Tuberose is commercially propagated by : 

(A) ruk }kjk  (A) Stem 

(B) juj }kjk  (B)  Runner 

(C) cYc }kjk  (C)  Bulb 

(D) ldj }kjk  (D)  Sucker 
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50. xkMZu dh tkikuh LVkby gS % 
 

50. Japanese style of garden is : 

(A) QkWjey  (A) Formal 

(B) buQkWjey  (B)  Informal 

(C) Ýh  (C)  Free 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

51. xkserh fdLe lEcfU/kr gS % 
 

51. Gomti variety is related is : 

(A) esUFkk ls  (A) Mint 

(B) vnjd ls  (B)  Ginger 

(C) nksuksa (A) vkSj (B)   (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

52. ,yks osjk dh tUeHkwfe gS % 
 

52. Origin place of Aloe vera is : 

(A) Hkkjr  (A) India 

(B) nf{k.k vÝhdk  (B)  South Africa 

(C) usiky  (C)  Nepal 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

53. isjhfoUdy fdl dqy ls lEcfU/kr gS \ 
 

53. Which family is related to periwinkle ? 

(A) jkstslh  (A) Rosaceae 

(B) ,ikslkbuslh  (B)  Apocynaceae 

(C) ,sih,slh  (C)  Apiaceae 

(D) iks,lh  (D)  Poaceae 
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54. ^fujey /koy* fdLe lEcfU/kr gS % 
 

54. „Nirmal Dhawal‟ variety is related to :  

(A) esUFkk ls  (A) Mint 

(B) xqykc ls  (B)  Rose 

(C) isjhfoUdy ls  (C)  Periwinkle 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

55. bZlcxksy ikS/ks ds fdl Hkkx ls izkIr gksrk  

gS \ 

 
55. Which plant part is used as Isabgol ? 

(A) fNydk  (A) Husk 

(B) cht  (B)  Seed 

(C) nksuksa (A) vkSj (B)   (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

56. v’oxa/kk dks 1-0 gsDVs;j cqokbZ ds fy, fdrus 

cht dh vko’;drk gksrh gS \ 

 
56. Seed requirement for 1.0 ha

–1
 of 

Ashwagandha is :  

(A) 10&12 fdxzk  (A) 10-12 kg 

(B) 15&20 fdxzk  (B)  15-20 kg 

(C) 20&25 fdxzk  (C)  20-25 kg 

(D) 25&30 fdxzk  (D)  25-30 kg 
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57. vjsfc;u pesyh dk okuLifrd uke gS % 
 

57. Botanical name of Arabian Jasmine is : 

(A) tkfLeue lEcd  (A) Jasminum sambac 

(B) tkfLeue xzkUMh¶yksje  (B)  Jasminum grandiflorum 

(C) tkfLeue gwfeyh  (C)  Jasminum humili 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

58. ^lulsV* fdLe lEcfU/kr gS % 
 

58. „Sunset‟ variety is related to : 

(A) xqykc ls  (A) Rose 

(B) rqylh ls  (B)  Ocimum 

(C) esUFkk ls  (C)  Mint 

(D) tjcsjk ls  (D)  Gerbera 

59. ^MªheyS.M* fdLe lEcfU/kr gS % 
 

59. „Dreamland‟ variety is related to : 

(A) fyfy;e ls  (A) Lilium 

(B) tjcsjk ls  (B)  Gerbera 

(C) xqykc ls  (C)  Rose 

(D) mi;qZDr lHkh ls  (D)  All of the above 

60. vkfdZM dh tUeLFkyh gS % 
 

60. Origin place of orchid is : 

(A) vÝhdk  (A) Africa 

(B) usiky  (B)  Nepal 

(C) ;w- ,l- ,-  (C)  U. S. A. 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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(Only for Rough Work) 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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